Umsetzungsbeispiel Anagramme – 
Belastungsfaktoren der Weimarer Republik

1. WERFLTSIISTCHKRESTWA
2. ILPOSINTFLADETIKO

3. NENSYESTMSKOS

4. SRGEIAGTIVSÄT
5. LEDOSSNESTDLCHGOE
6. ELSLIVREAR RAGREVT

7. THILRE-CTUSHP
8. AETL ITELEN

9. AMSSNITSIMITUE

10. PIRASTESAMSU

11. ITOLFIANN


1. Weltwirtschaftskrise

2. Deflationspolitik

3. Systemkonsens

4. Aggressivität

5. DolchstoSSlegende

6. Versailler Vertrag

7. Hitler-Putsch

8. Alte Eliten

9. Antisemitismus

10. Separatismus

11. Inflation










